Crease pattern instruction problem:
1

The gray square is the last layer and the green

square is the first layer.

Top of the open
side

One way

You can fold this crease pattern without turn and rotate in only one way.
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The one possible crease pattern (8 are possible with turn an rotate).
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The gray square is the last layer and the green

square is the first layer.

Top of the open

Four different
ways

You can fold this crease pattern without turn and rotate in four different ways.
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The 8 possible crease pattern (32 are possible with turn an rotate).
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3 next higher version

The gray square

square is the first layer.

is the last layer and the green

Top of the open
side

You can fold this crease pattern without turn and rotate in seven different ways.

You must twist the

paper. It does not
work with a small

paper.
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The 20 possible crease pattern (128 are possible with turn an rotate).
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